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Decomposing Numbers

B)

A) Decompose each number in multiple ways and !ll in the missing numbers.

1) Which of the following options are equal to 453?

400 + 50 + 3

a)

400 + 40 + 3c)

3 hundreds + 15 tens + 3 ones b) 45 tens + 13 ones

d)

2) Which of the following options are equal to 992?

900 + 20 + 29a) 700 + 292

c) 9 hundreds + 9 tens + 2 ones

b)

99 tens + 2 ones d)

1) 106 = +1 hundred +tens 6 ones

106 = 10 +tens ones

106 = ones

2) 875 = +hundreds 7 +tens 5 ones

875 = 87 +tens ones

875 = ones

3) 544 = +5 hundreds +tens ones

544 = +tens 4 ones

544 = ones

4) 691 = +hundreds 9 +tens ones

691 = +tens 1 one

691 = ones
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Which of the following options are equal to 453?

400 + 50 + 3400 + 40 + 3

3 hundreds + 15 tens + 3 ones b) 45 tens + 13 ones

d)

10 +tens ones

ones

+hundreds 7 +tens 5 ones

87 +tens ones

ones

+hundreds +tens ones

+tens 4 ones

ones

+hundreds 9 +tens ones

+tens 1 one

ones
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